



Special Issue in Honor of Prof. J. A. Gbadeyan's Retirement

Fixed Point Theorems with Rational Expressions over a Closed Subset of Hilbert Spaces

S. A. ANIKI^{1*}, E. E. ARIBIKE² M. RAJI³, F. ADEGBOYE⁴ AND K. RAUF⁵

ABSTRACT

In this paper, we prove the existence and uniqueness of a fixed point for a continuous self- mapping over a closed subset of Hilbert spaces satisfying nonlinear rational contractive-type condition. This result is extended and generalized for some positive integer powers of continuous self-mappings in Hilbert spaces.

1. INTRODUCTION

The idea of fixed point theory plays a pivotal role in solving varieties of problems in mathematics and its application. Several works have been done on the applications, generalizations and extensions of the Banach contraction principle in diverse areas.

Several authors, such as [7] investigated the extension of Banach fixed point theorem by removing the completeness of the space with different conditions. [1] considered various contractive conditions for self-mappings in metric space. [2] also investigated the rational type of contractions to obtain a unique fixed point in complete metric space. [4] developed the approach of [7] and proved analogous results involving two mappings on a complete metric space. [3] developed the approach of [6] and proved analogous results involving two mappings on a complete metric space.

In this present work, we establish existence and uniqueness of fixed point for a continuous self- mapping over a closed subset of Banach spaces satisfying nonlinear rational contractive-type condition as an improvement to the works of [9] & [10].

Received: 11/06/2022, Accepted: 18/07/2022, Revised: 29/07/2022. * Corresponding author.

2015 *Mathematics Subject Classification*. 00000 & 00000.

Keywords and phrases. Hilbert spaces, Fixed point, Closed subset, Completeness

^{1,3,4}Department of Mathematics and Statistics, Confluence University of Science and Technology, Osara, Kogi, Nigeria

²Department of Mathematics and Statistics, Lagos State University of Science and Technology, Ikorodu, Lagos, Nigeria

⁵Department of Mathematics, University of Ilorin, Ilorin, Kwara, Nigeria

E-mails of the corresponding author: anikisa@custech.edu.ng

ORCID of the corresponding author: 0000-0003-1345-758X

2. PRELIMINARIES

In this part of the work, we list some useful results that will be useful in the course of our findings.

Theorem 2.1 ([11]). *Let C be non empty closed subset of Hilbert space H . Let $T : C \rightarrow C$ be self-mappings satisfying the following condition.*

$$\|Tx - Ty\| \leq \alpha \left\{ \frac{\|x-Tx\|^2 + \|y-Ty\|^2}{\|x-Tx\| + \|y-Ty\|} \right\} + \beta \|x - y\| \text{ for all } x, y \in S, x \neq y, \alpha \in [0, 1/2), \beta \geq 0 \text{ and } 2\alpha + \beta < 1. \text{ Then, } T \text{ has a common fixed point in } C.$$

Theorem 2.2 ([8]). *Let C be non empty closed subset of Hilbert space H . Let $T : C \rightarrow C$ be self-mappings satisfying the following condition*

$$\|Tx - Ty\| \leq \alpha \frac{\|x-Tx\|^2 + \|y-Ty\|^2}{\|x-Tx\| + \|y-Ty\|} + \beta \frac{\|x-Ty\|^2 + \|y-Tx\|^2}{\|x-Ty\| + \|y-Tx\|} + \gamma \|x - y\| \text{ for all } x, y \in C, x \neq y, 0 \leq \alpha, \beta < 1/2, 0 \leq \gamma \text{ and } 2\alpha + 2\beta + \gamma < 1. \text{ Then, } T \text{ has a unique fixed point in } C.$$

Theorem 2.3 ([5]). *Let S be non empty closed subset of Hilbert space H . Let $T : S \rightarrow S$ be self-mappings satisfying the following condition*

$$\|Tx - Ty\| \leq a_1 \left\{ \frac{\|x-Tx\|^2 + \|y-Ty\|^2 + \|x-Ty\|^2 + \|y-Tx\|^2}{\|x-Tx\| + \|y-Ty\| + \|x-Ty\| + \|y-Tx\|} \right\} + a_2 \left\{ \frac{\|x-Tx\|^2 + \|y-Ty\|^2}{\|x-Tx\| + \|y-Ty\|} \right\} + a_3 \left\{ \frac{\|x-Ty\|^2 + \|y-Tx\|^2}{\|x-Ty\| + \|y-Tx\|} \right\} + a_4 \|x - y\| \text{ for all } x, y \in S \text{ and } 4a_1, a_2, a_3, a_4 \geq 0 \text{ and } 4a_1 + 2a_2 + 2a_3 + a_4 < 1. \text{ Then, } T \text{ has unique fixed point in } X.$$

Theorem 2.4 ([10]). *Let X be a closed subset of a Hilbert space and T_1, T_2 be two continuous self-mappings on X satisfying contraction condition then, T_1 and T_2 have unique common fixed point in X :*

$$\begin{aligned} \|T_1x - T_2y\| &\leq a_1 \frac{\|x - T_1x\| [1 + \|y - T_2y\|]}{1 + \|x - y\|} + a_2 \frac{\|y - T_2y\| [1 + \|y - T_1x\|]}{1 + \|x - y\|} + a_3 \frac{\|x - T_2y\| [1 + \|y - T_1x\|]}{1 + \|x - y\|} \\ &+ a_4 \frac{\|x - y\| [1 + \|T_1x - T_2y\|]}{1 + \|x - y\|} + a_5 \frac{\|x - y\| [1 + \|x - T_1x\|]}{1 + \|y - T_2y\|} + a_6 \frac{\|x - T_1x\| [1 + \|x - T_2y\|]}{1 + \|y - T_2y\|} \\ &+ a_7 \frac{\|x - T_2y\| [1 + \|T_1x - T_2y\|]}{1 + \|x - y\|} + a_8 \frac{\|x - y\| [1 + \|x - T_2y\|]}{1 + \|x - y\|} + a_9 \frac{\|x - T_1x\| + \|y - T_2y\| + \|x - y\|}{1 + \|x - T_1x\| \|x - T_2y\| \|y - T_2y\| \|x - y\|} \\ &+ a_{10} \frac{\|x - T_2y\|^2 + \|y - T_1x\|^2}{\|x - T_2y\| + \|y - T_1x\|} + a_{11} [\|x - T_1x\| + \|y - T_2y\|] + a_{12} [\|x - T_2y\| + \|y - T_1x\|] + a_{13} \|x - y\|. \end{aligned}$$

For all $x, y \in X$ and $x \neq y$, where a_i ($i = 1, 2, 3, \dots, 13$) are non-negative reals with $0 \leq \sum_{i=1}^8 a_i + 3a_9 + 2 \sum_{i=10}^{12} a_i + a_{13} < 1$.

Theorem 2.5 ([9]). *Let T_1 and T_2 be two self-mappings of closed subset X of a Hilbert space satisfying the inequality.*

$$\begin{aligned} \|T_1x - T_2y\|^2 &\leq \alpha \frac{\|x - T_2y\|^2 [1 + \|y - T_1x\|^2]}{1 + \|x - y\|^2} + \beta \frac{\|x - y\|^2 [1 + \|x - T_2y\|^2]}{1 + \|x - y\|^2} \\ &+ \gamma [\|y - T_1x\|^2 + \|x - T_2y\|^2] + \delta \|x - y\|^2, \end{aligned}$$

for all $x, y \in X, x \neq y$, where $\alpha, \beta, \gamma, \delta$ are positive real's with $4\alpha + \beta + 4\gamma + \delta < 1$. Then, T_1 and T_2 have a unique common fixed point.

Theorem 2.6 ([9]). *Let X be a closed subset of a Hilbert space and T_1, T_2 be two self-mappings on X satisfying.*

$$\begin{aligned} \|T_1^p x - T_2^q y\|^2 &\leq \alpha \frac{\|x - T_2^q y\|^2 [1 + \|y - T_1^p x\|^2]}{1 + \|x - y\|^2} + \beta \frac{\|x - y\|^2 [1 + \|x - T_2^q y\|^2]}{1 + \|x - y\|^2} \\ &\quad + \gamma [\|y - T_1^p x\|^2 + \|x - T_2^q y\|^2] + \delta \|x - y\|^2, \end{aligned}$$

for all $x, y \in X$, $x \neq y$, where $\alpha, \beta, \gamma, \delta$ are positive real's with $4\alpha + \beta + 4\gamma + \delta < 1$ and p, q are positive integers. Then, T_1 and T_2 have a unique common fixed point.

3. MAIN RESULTS

Theorem 3.1. *Let X be a closed subset of a Hilbert space and $T : X \rightarrow X$ be a continuous self-mapping satisfying the following inequality.*

$$\begin{aligned} \|Tx - Ty\| &\leq c_1 \frac{\|x - Tx\| [1 + \|y - Ty\|]}{1 + \|x - y\|} + c_2 \frac{\|y - Ty\| [1 + \|y - Tx\|]}{1 + \|x - y\|} + c_3 \frac{\|x - Ty\| [1 + \|y - Tx\|]}{1 + \|x - y\|} \\ &\quad + c_4 \frac{\|x - y\| [1 + \|Tx - Ty\|]}{1 + \|x - y\|} + c_5 \frac{\|x - y\| [1 + \|x - Tx\|]}{1 + \|y - Ty\|} + c_6 \frac{\|x - Tx\| [1 + \|x - Ty\|]}{1 + \|y - Ty\|} \\ &\quad + c_7 \frac{\|x - Ty\| [1 + \|Tx - Ty\|]}{1 + \|x - y\|} + c_8 \frac{\|x - y\| [1 + \|x - Ty\|]}{1 + \|x - y\|} + c_9 \frac{\|x - Tx\| + \|y - Ty\| + \|x - y\|}{1 + \|x - Tx\| \|x - Ty\| \|y - Ty\| \|x - y\|} \\ &\quad + c_{10} \frac{\|x - Ty\|^2 + \|y - Tx\|^2}{\|x - Ty\| + \|y - Tx\|} + c_{11} [\|x - Tx\| + \|y - Ty\|] + c_{12} [\|x - Ty\| + \|y - Tx\|] + c_{13} \|x - y\| \end{aligned}$$

for all $x, y \in X$ and $x \neq y$, where c_i ($i = 1, 2, 3, \dots, 13$) are non-negative real numbers with $0 \leq \sum_{i=1}^8 c_i + 3c_9 + 2 \sum_{i=10}^{12} c_i + c_{13} < 1$. Then T has a unique fixed point in X .

Proof. We construct a sequence $\{x_n\}$ for an arbitrary point $x_0 \in X$ as follows

$$x_{2n+1} = Tx_{2n}, \quad x_{2n+2} = Tx_{2n+1}, \text{ for } n = 1, 2, 3, \dots$$

We show that the sequence $\{x_n\}$ is a Cauchy sequence in X

$$\begin{aligned} \|x_{2n+1} - x_{2n}\| &= \|Tx_{2n} - Tx_{2n-1}\| \leq c_1 \frac{\|x_{2n} - Tx_{2n}\| [1 + \|x_{2n-1} - Tx_{2n-1}\|]}{1 + \|x_{2n} - x_{2n-1}\|} \\ &\quad + c_2 \frac{\|x_{2n-1} - Tx_{2n-1}\| [1 + \|x_{2n-1} - Tx_{2n}\|]}{1 + \|x_{2n} - x_{2n-1}\|} + c_3 \frac{\|x_{2n} - Tx_{2n-1}\| [1 + \|x_{2n-1} - Tx_{2n}\|]}{1 + \|x_{2n} - x_{2n-1}\|} \\ &\quad + c_4 \frac{\|x_{2n} - x_{2n-1}\| [1 + \|Tx_{2n} - Tx_{2n-1}\|]}{1 + \|x_{2n} - x_{2n-1}\|} + c_5 \frac{\|x_{2n} - x_{2n-1}\| [1 + \|x_{2n} - Tx_{2n}\|]}{1 + \|x_{2n-1} - Tx_{2n-1}\|} \\ &\quad + c_6 \frac{\|x_{2n} - Tx_{2n}\| [1 + \|x_{2n} - Tx_{2n-1}\|]}{1 + \|x_{2n-1} - Tx_{2n-1}\|} + c_7 \frac{\|x_{2n} - Tx_{2n-1}\| [1 + \|Tx_{2n} - Tx_{2n-1}\|]}{1 + \|x_{2n} - x_{2n-1}\|} \\ &\quad + c_8 \frac{\|x_{2n} - x_{2n-1}\| [1 + \|x_{2n} - Tx_{2n-1}\|]}{1 + \|x_{2n} - x_{2n-1}\|} \\ &\quad + c_9 \frac{\|x_{2n} - Tx_{2n}\| + \|x_{2n-1} - Tx_{2n-1}\| + \|x_{2n} - x_{2n-1}\|}{1 + \|x_{2n} - Tx_{2n}\| \|x_{2n} - Tx_{2n-1}\| \|x_{2n-1} - Tx_{2n-1}\| \|x_{2n} - x_{2n-1}\|} \end{aligned}$$

$$\begin{aligned}
 &+c_{10} \frac{\|x_{2n} - Tx_{2n-1}\|^2 + \|x_{2n-1} - Tx_{2n}\|^2}{\|x_{2n} - Tx_{2n-1}\| + \|x_{2n-1} - Tx_{2n}\|} + c_{11} [\|x_{2n} - Tx_{2n}\| + \|x_{2n-1} - Tx_{2n-1}\|] \\
 &+c_{12} [\|x_{2n} - Tx_{2n-1}\| + \|x_{2n-1} - Tx_{2n}\|] + c_{13} \|x_{2n} - x_{2n-1}\|
 \end{aligned}$$

This implies

$$\|x_{2n+1} - x_{2n}\| = a(n) \|Tx_{2n} - Tx_{2n-1}\|,$$

where

$$a(n) = \frac{B_1 + (c_2 + 2c_9 + c_{10} + c_{11} + c_{12}) \|x_{2n} - x_{2n-1}\|}{B_2 + (1 - c_1 - c_2 - c_4 - c_5 - c_9 - c_{10} - c_{11} - c_{12}) \|x_{2n} - x_{2n-1}\|},$$

$B_1 = c_2 + c_4 + c_5 + c_8 + 2c_9 + c_{10} + c_{11} + c_{12} + c_{13}$ and

$$B_2 = 1 - c_1 - c_6 - c_9 - c_{10} - c_{11} - c_{12}$$

Clearly, $\delta = a(n) < 1, \forall n = 1, 2, 3, \dots$, we get

$$\|x_{n+1} - x_n\| \leq \delta \|x_n - x_{n-1}\|,$$

By induction, we have

$$\|x_{n+1} - x_n\| \leq \delta^n \|x_1 - x_0\|, \quad n \geq 1,$$

Taking $n \rightarrow \infty$, we have $\|x_{n+1} - x_n\| \rightarrow 0$.

Hence, $\{x_n\}$ is a Cauchy sequence in X and so it has a limit λ in X . Since the sequences $\{x_{2n+1}\} = \{Tx_{2n}\}$ and $\{x_{2n+2}\} = \{Tx_{2n+1}\}$ are subsequences of $\{x_n\}$, and also these subsequences have the same limit λ in X . We now show that λ is a common fixed point of T . Now consider the following inequality

$$\begin{aligned}
 \|\lambda - T\lambda\| &= \|\lambda - x_{2n+2} + x_{2n+2} - T\lambda\| = \|(\lambda - x_{2n+2}) + (x_{2n+2} - T\lambda)\| \leq \|\lambda - x_{2n+2}\| + \|T\lambda - Tx_{2n+1}\| \\
 &\leq c_1 \frac{\|\lambda - T\lambda\| [1 + \|x_{2n+1} - Tx_{2n+1}\|]}{1 + \|\lambda - x_{2n+1}\|} + c_2 \frac{\|x_{2n+1} - Tx_{2n+1}\| [1 + \|x_{2n+1} - T\lambda\|]}{1 + \|\lambda - x_{2n+1}\|} \\
 &+c_3 \frac{\|\lambda - Tx_{2n+1}\| [1 + \|x_{2n+1} - T\lambda\|]}{1 + \|\lambda - x_{2n+1}\|} +c_4 \frac{\|\lambda - x_{2n+1}\| [1 + \|T\lambda - Tx_{2n+1}\|]}{1 + \|\lambda - x_{2n+1}\|} +c_5 \frac{\|\lambda - x_{2n+1}\| [1 + \|\lambda - T\lambda\|]}{1 + \|x_{2n+1} - Tx_{2n+1}\|} \\
 &+c_6 \frac{\|\lambda - T\lambda\| [1 + \|\lambda - Tx_{2n+1}\|]}{1 + \|x_{2n+1} - Tx_{2n+1}\|} +c_7 \frac{\|\lambda - Tx_{2n+1}\| [1 + \|T\lambda - Tx_{2n+1}\|]}{1 + \|\lambda - x_{2n+1}\|} +c_8 \frac{\|\lambda - x_{2n+1}\| [1 + \|\lambda - Tx_{2n+1}\|]}{1 + \|\lambda - x_{2n+1}\|} \\
 &+c_9 \frac{\|\lambda - T\lambda\| + \|x_{2n+1} - Tx_{2n+1}\| + \|\lambda - x_{2n+1}\|}{1 + \|\lambda - T\lambda\| \|\lambda - Tx_{2n+1}\| \|x_{2n+1} - Tx_{2n+1}\| \|\lambda - x_{2n+1}\|} +c_{10} \frac{\|\lambda - Tx_{2n+1}\|^2 + \|x_{2n+1} - T\lambda\|^2}{\|\lambda - Tx_{2n+1}\| + \|x_{2n+1} - T\lambda\|} \\
 &+c_{11} [\|\lambda - T\lambda\| + \|x_{2n+1} - Tx_{2n+1}\|] +c_{12} [\|\lambda - Tx_{2n+1}\| + \|x_{2n+1} - T\lambda\|] +c_{13} \|\lambda - x_{2n+1}\|.
 \end{aligned}$$

Letting $n \rightarrow \infty$, we get $\|\lambda - T\lambda\| \leq (c_1 + c_6 + c_9 + c_{10} + c_{11} + c_{12}) \|\lambda - T\lambda\|$, since $c_1 + c_6 + c_9 + c_{10} + c_{11} + c_{12} < 1$, hence $\lambda = T\lambda$.

Similarly, from the hypothesis, we get $\lambda = T\lambda$ by considering the following

$$\|\lambda - T\lambda\| = \|(\lambda - x_{2n+1}) + (x_{2n+1} - T\lambda)\|.$$

We now show that λ is a unique fixed point of T . Suppose that $t (\lambda \neq t)$ is also a common fixed point of T .

Then, by the hypothesis, we get

$$\begin{aligned} \|\lambda - t\| &= \|T\lambda - Tt\| \leq c_1 \frac{\|\lambda - T\lambda\| [1 + \|t - Tt\|]}{1 + \|\lambda - t\|} + c_2 \frac{\|t - Tt\| [1 + \|t - T\lambda\|]}{1 + \|\lambda - t\|} + c_3 \frac{\|\lambda - Tt\| [1 + \|t - T\lambda\|]}{1 + \|\lambda - t\|} \\ &+ c_4 \frac{\|\lambda - t\| [1 + \|T\lambda - Tt\|]}{1 + \|\lambda - t\|} + c_5 \frac{\|\lambda - t\| [1 + \|\lambda - T\lambda\|]}{1 + \|t - Tt\|} + c_6 \frac{\|\lambda - T\lambda\| [1 + \|\lambda - Tt\|]}{1 + \|t - Tt\|} \\ &+ c_7 \frac{\|\lambda - Tt\| [1 + \|T\lambda - Tt\|]}{1 + \|\lambda - t\|} + c_8 \frac{\|\lambda - t\| [1 + \|\lambda - Tt\|]}{1 + \|\lambda - t\|} + c_9 \frac{\|\lambda - T\lambda\| + \|t - Tt\| + \|\lambda - t\|}{1 + \|\lambda - T\lambda\| \|\lambda - Tt\| \|t - Tt\| \|\lambda - t\|} \\ &+ c_{10} \frac{\|\lambda - Tt\|^2 + \|t - T\lambda\|^2}{\|\lambda - Tt\| + \|t - T\lambda\|} + c_{11} [\|\lambda - T\lambda\| + \|t - Tt\|] + c_{12} [\|\lambda - Tt\| + \|t - T\lambda\|] + c_{13} \|\lambda - t\|. \end{aligned}$$

Thus,

$$\|\lambda - t\| \leq (c_3 + c_4 + c_5 + c_7 + c_8 + c_9 + c_{10} + 2c_{12} + c_{13}) \|\lambda - t\| < \|\lambda - t\|$$

a contradiction. Hence $\lambda = t$ (common fixed point λ is unique in X). □

Theorem 3.2. *Let X be a closed subset of a Hilbert space and $T : X \rightarrow X$ be a continuous self- mapping satisfying*

$$\begin{aligned} \|T^r x - T^s y\| &\leq c_1 \frac{\|x - T^r x\| [1 + \|y - T^s y\|]}{1 + \|x - y\|} + c_2 \frac{\|y - T^s y\| [1 + \|y - T^r x\|]}{1 + \|x - y\|} + c_3 \frac{\|x - T^s y\| [1 + \|y - T^r x\|]}{1 + \|x - y\|} \\ &+ c_4 \frac{\|x - y\| [1 + \|T^r x - T^s y\|]}{1 + \|x - y\|} + c_5 \frac{\|x - y\| [1 + \|x - T^r x\|]}{1 + \|y - T^s y\|} + c_6 \frac{\|x - T^r x\| [1 + \|x - T^s y\|]}{1 + \|y - T^s y\|} \\ &+ c_7 \frac{\|x - T^s y\| [1 + \|T^r x - T^s y\|]}{1 + \|x - y\|} + c_8 \frac{\|x - y\| [1 + \|x - T^s y\|]}{1 + \|x - y\|} + c_9 \frac{\|x - T^r x\| + \|y - T^s y\| + \|x - y\|}{1 + \|x - T^r x\| \|x - T^s y\| \|y - T^s y\| \|x - y\|} \\ &+ c_{10} \frac{\|x - T^s y\|^2 + \|y - T^r x\|^2}{\|x - T^s y\| + \|y - T^r x\|} + c_{11} [\|x - T^r x\| + \|y - T^s y\|] + c_{12} [\|x - T^s y\| + \|y - T^r x\|] + c_{13} \|x - y\| \end{aligned}$$

for all $x, y \in X$ and $x \neq y$, where c_i ($i = 1, 2, 3, \dots, 13$) are non-negative real numbers with $0 \leq \sum_{i=1}^8 c_i + 3c_9 + 2 \sum_{i=10}^{12} c_i + c_{13} < 1$ and r, s are two positive integers. Then T has a unique fixed point in X .

Proof. From Theorem 3.1 T^r and T^s have a unique common fixed point $\lambda \in X$, so that $T^r \lambda = \lambda$ and $T^s \lambda = \lambda$. From $T^r(T\lambda) = T(T^r \lambda) = T\lambda$, it follows that $T\lambda$ is a fixed point of T^r . But λ is a unique fixed point of T^r . Therefore $T\lambda = \lambda$.

Similarly, we can get $T\lambda = \lambda$ from $T^s(T\lambda) = T(T^s \lambda) = T\lambda$. Hence λ is a unique fixed point of T .

Now, we show uniqueness. Let t be another fixed point of T , so that $Tt = t$. then from the hypothesis, we have

$$\begin{aligned} \|\lambda - t\| &= \|T^r \lambda - T^s t\| \leq c_1 \frac{\|\lambda - T^r \lambda\| [1 + \|t - T^r t\|]}{1 + \|\lambda - t\|} + c_2 \frac{\|t - T^s t\| [1 + \|t - T^r \lambda\|]}{1 + \|\lambda - t\|} \\ &+ c_3 \frac{\|\lambda - T^s t\| [1 + \|t - T^r \lambda\|]}{1 + \|\lambda - t\|} + c_4 \frac{\|\lambda - t\| [1 + \|T^r \lambda - T^s t\|]}{1 + \|\lambda - t\|} + c_5 \frac{\|\lambda - t\| [1 + \|\lambda - T^r \lambda\|]}{1 + \|t - T^s t\|} \\ &+ c_6 \frac{\|\lambda - T^r \lambda\| [1 + \|\lambda - T^s t\|]}{1 + \|t - T^s t\|} + c_7 \frac{\|\lambda - T^s t\| [1 + \|T^r \lambda - T^s t\|]}{1 + \|\lambda - t\|} + c_8 \frac{\|\lambda - t\| [1 + \|\lambda - T^s t\|]}{1 + \|\lambda - t\|} \end{aligned}$$

$$\begin{aligned}
 &+c_9 \frac{\|\lambda - T^r \lambda\| + \|t - T^s t\| + \|\lambda - t\|}{1 + \|\lambda - T^r \lambda\| \|\lambda - T^s t\| \|t - T^s t\| \|\lambda - t\|} + c_{10} \frac{\|\lambda - T^s t\|^2 + \|t - T^r \lambda\|^2}{\|\lambda - T^s t\| + \|t - T^r \lambda\|} + c_{11} [\|\lambda - T^r \lambda\| + \|t - T^s t\|] \\
 &+ c_{12} [\|\lambda - T^s t\| + \|t - T^r \lambda\|] + c_{13} \|\lambda - t\|.
 \end{aligned}$$

Therefore, we have

$$\|\lambda - t\| \leq (c_3 + c_4 + c_5 + c_7 + c_8 + c_9 + c_{10} + 2c_{12} + c_{13}) \|\lambda - t\| < \|\lambda - t\|$$

Implies $\lambda = t$, since $c_3 + c_4 + c_5 + c_7 + c_8 + c_9 + c_{10} + 2c_{12} + c_{13} < 1$.

Hence, λ is a unique common fixed point of T in X . □

We present the following example to illustrate our main result.

Example 3.3. Let $T : [0, 1] \rightarrow [0, 1]$ be a mapping defined by $Tx = \frac{x^3}{6}$, for all $x \in [0, 1]$ with usual norm $\|x - y\| = |x - y|$, for all $x \in [0, 1]$.

Proof. From Theorem 3.1, we have

$$\begin{aligned}
 \|Tx - Ty\| &= \left\| \frac{x^3}{6} - \frac{y^3}{6} \right\| \leq c_1 \frac{\left\| x - \frac{x^3}{6} \right\| \left[1 + \left\| y - \frac{y^3}{6} \right\| \right]}{1 + \|x - y\|} + c_2 \frac{\left\| y - \frac{y^3}{6} \right\| \left[1 + \left\| x - \frac{x^3}{6} \right\| \right]}{1 + \|x - y\|} \\
 &+ c_3 \frac{\left\| x - \frac{y^3}{6} \right\| \left[1 + \left\| y - \frac{x^3}{6} \right\| \right]}{1 + \|x - y\|} + c_4 \frac{\|x - y\| \left[1 + \left\| \frac{x^3}{6} - \frac{y^3}{6} \right\| \right]}{1 + \|x - y\|} + c_5 \frac{\|x - y\| \left[1 + \left\| x - \frac{x^3}{6} \right\| \right]}{1 + \left\| y - \frac{y^3}{6} \right\|} \\
 &+ c_6 \frac{\left\| x - \frac{x^3}{6} \right\| \left[1 + \left\| x - \frac{y^3}{6} \right\| \right]}{1 + \left\| y - \frac{y^3}{6} \right\|} + c_7 \frac{\left\| x - \frac{y^3}{6} \right\| \left[1 + \left\| \frac{x^3}{6} - \frac{y^3}{6} \right\| \right]}{1 + \|x - y\|} + c_8 \frac{\|x - y\| \left[1 + \left\| x - \frac{y^3}{6} \right\| \right]}{1 + \|x - y\|} \\
 &+ c_9 \frac{\left\| x - \frac{x^3}{6} \right\| + \left\| y - \frac{y^3}{6} \right\| + \|x - y\|}{1 + \left\| x - \frac{x^3}{6} \right\| \left\| x - \frac{y^3}{6} \right\| \left\| y - \frac{y^3}{6} \right\| \|x - y\|} + c_{10} \frac{\left\| x - \frac{y^3}{6} \right\|^2 + \left\| y - \frac{x^3}{6} \right\|^2}{\left\| x - \frac{y^3}{6} \right\| + \left\| y - \frac{x^3}{6} \right\|} + c_{11} \left[\left\| x - \frac{x^3}{6} \right\| + \left\| y - \frac{y^3}{6} \right\| \right] \\
 &+ c_{12} \left[\left\| x - \frac{y^3}{6} \right\| + \left\| y - \frac{x^3}{6} \right\| \right] + c_{13} \|x - y\|
 \end{aligned}$$

On continuing with the procedure in the proof of Theorem 3.1, we get that 0 is the fixed point of the mapping T . □

Conclusion. In this paper, we prove the existence and uniqueness of a fixed point for a continuous self- mapping T , some positive integers r, s of a pair of continuous self-mappings T^r, T^s of Hilbert spaces. These results generalized and extend the results of some literatures.

Acknowledgement: The authors would like to extend their sincere thanks to all that have contributed in one way or the other for the actualization of the review of this work.

Competing interests: The content of the manuscript was approved by all authors. Therefore, no competing interest between authors.

Funding: Authors received no financial support for the research, authorship, and/or publication of this article.

REFERENCES

- [1] CHATTERJI H. (1979). On generalization of Banach contraction principle. *Indian Journal of Pure and Applied Mathematics*. **10**, 400-403.
- [2] DASS B. K. & GUPTA S. (1975). An extension of Banach contraction principle through rational expression. *India Journal of Pure and Applied Mathematics*. **6**, 1455-1458.
- [3] FISHER B. (1976). A fixed point for compact metric space. *Publ. Inst. Math.* **25**, 193-194.
- [4] FISHER B. (1978). Common fixed point and constant mappings satisfying a rational inequality. *Math. Sem. Notes*. **6**, 29-35.
- [5] HARSHAD D. & RAJNI B. (2017). Fixed point for self mappings in Hilbert space. *Int. J. Reas. And Sci. Inn.* 2321-2705.
- [6] KHANNAN R. (1968). Some results on fixed points. *Bull. Cal. Math. Soc.* **60**, 71-76.
- [7] KHANNAN R. (1969). Some results on fixed points. *American Mathematical Society*. **76**, 405-408.
- [8] MODI G. & GUPTA R. N. (2015). Common fixed point theorems in Hilbert space. *Int. J. Mod. Sci. and Tech.* **2**, 1-7.
- [9] SESHAGIRI R. N. & KALYANI K. (2020). Some fixed point theorems on nonlinear contractive mappings in Hilbert space. *e-Journal of Analysis and applied Mathematics*. 1-12.
- [10] SESHAGIRI R. N. & KALYANI K. (2020). Some results on common fixed point theorems in Hilbert space. *Asian Journal of Mathematical Science*. 66-74.
- [11] SHARMA V. M., BADSHAN V. H. & GUPTA V. K. (2014). Common fixed point theorems in Hilbert space. *Int. Acad. Sci. and Tech.* **3**, 63-70.